
The STYLOS

PARTS CATALOG
Model #M010827
Model #M010959
Model #M817827
Model #M817959
Issue Date: 4/98

Catalog #M056000D

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/


STYLOS
SYSTEM COMPONENTS (LEVEL 1)

1

2

3

4

5

6

7 8

9

10
11

ITEM P/N DESCRIPTION QTY
1
2
3
4
5
6
7
8
9
10
11

C980XXX
D585XXX
M028XXX
M027959
M032XXX
M031XXX
M033XXX
M029000
M030000
M034000
M035000

Handheld Shower Head, Optica
Flex Hose, Shower, 59"
Wall Bar Assembly
Bail, Stylos, White
Handle, Mixer/Diverter
Faceplate, Mixer/Diverter
Accessories Assembly, Mixer
Mixer/Diverter Assembly
Mixer Cartridge
Spray Jet Assembly, White
Cap, Spray Jet, White

1
1
1
2
1
1
1
1
1
8
8

XXX=827 Chrome, 902 White

NOTE: Mixer Accessories Assembly,
Item 7, includes Mixer Housing,
Diverter Housing and Knob,
Faceplate and Handle.

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C980
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D585
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M028
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M027959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M032
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M031
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M033
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M029
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M030
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M034
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M035
http://www.guillens.com/


STYLOS
SYSTEM COMPONENTS (LEVEL 2)

ITEM P/N DESCRIPTION QTY
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

C980XXX
D585XXX
M028XXX
M027959
F928XXX
A970000
3971000
4036000
M494XXX
G565000
M034000
M035000
A679000
G153XXX
M798000
G551000
G436000
D717000
J620000
D405000
M795000
B712000
N005000
N006000
A944000

Handheld Shower Head, Optica
Flex Hose, Shower, 59"
Wall Bar Assembly
Bail, Stylos, White
Handle, Teardrop
Nameplate, JWB-Brass
Screw, PHP, #10-24 x .5"L.
Washer, #10 Flat
Faceplate Assy, Round, Optica
Gasket, Optica, Foam, 3" O.D.
Spray Jet Assembly, White
Cap, Spray Jet, White
Tubing, PVC, Reinf., .38 I.D. x 60
Valve, Mixer, 1 Piece, Trim
Adapter, Barb, 3/8 x 1/2 MPT
Ell, Street, Mod, .5 x .5 MPT x FPT, Brass
Flex Hose, Water Supply
Screw, PHP, M4 x 12, SS
Washer, M4 External Tooth Locking
Standoff, F x F M4-33.8mm
Standoff, F x F M4-19.8mm
Barbed Tee, 3/8 x 3/8 x 3/8 x 3/8
Nut, Outlet, Stylos
Adapter, Outlet, Stylos
Tubing Clamps

1
1
1
2
2
2
2
2
2
2
8
8
1
2
2
4
4
12
6
3
3
7
1
1
2

1

2

3

4

5

5

6

6

7

7

8

8

9

9
10

10
14

14

18

18

19

19

16

16

13
15

18
14

20
17

17

16

16 17

21
14

15 18

1112

Spray Jet Shown
For Reference

13

22

17

17

16

BACK VIEW-PLUMBING DETAIL

23

24

25

25

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C980
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D585
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M028
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M027959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F928
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A970
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3971
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4036
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M494
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G565
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M034
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M035
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A679
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G153
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M798
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G551
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G436
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D717
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC J620
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D405
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M795
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B712
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N005
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N006
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A944
http://www.guillens.com/


STYLOS
SYSTEM COMPONENTS (LEVEL 3)

ITEM P/N DESCRIPTION QTY
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

C980XXX
D585XXX
M028XXX
M027959
F928XXX
A970000
3971000
4036000
M494XXX
G565000
M034000
M035000
A679000
G153XXX
M798000
G551000
A945000
D717000
J620000
D405000
M795000
B712000
N005000
N006000
A944000
N451000
A302000
N450000
M998000
A678000

Handheld Shower Head, Optica
Flex Hose, Shower, 59"
Wall Bar Assembly
Bail, Stylos, White
Handle, Teardrop
Nameplate, JWB-Brass
Screw, PHP, #10-24 x .5"L.
Washer, #10 Flat
Faceplate Assy, Round, Optica
Gasket, Optica, Foam, 3" O.D.
Spray Jet Assembly, White
Cap, Spray Jet, White
Tubing, PVC, Reinf., .38 I.D. x 60
Valve, Mixer, 1 Piece, Trim
Adapter, Barb, 3/8 x 1/2 MPT
Ell, Street, Mod, .5 x .5 MPT x FPT, Brass
Spring Clamp, .75 OD Hose
Screw, PHP, M4 x 12, SS
Washer, M4 External Tooth Locking
Standoff, F x F M4-33.8mm
Standoff, F x F M4-19.8mm
Barbed Tee, 3/8 x 3/8 x 3/8 x 3/8
Nut, Outlet, Stylos
Adapter, Outlet, Stylos
Tubing Clamps
Adapter, Barb x Male, 1/2 x 1/2, Brass
Barbed Tee, 1/2 x 1/2 x 2
Barbed Ell, 90, 1/2 x 1/2
Adapter, 1/2 FPT x 1/2 Barb, Brass
Tubing, PVC Reinf., 1/2" I.D. x 60"

1
1
1
2
2
2
2
2
2
2
8
8
ea.
2
2
4
16
12
6
3
3
7
1
1
2
4
2
2
2
ea.

1

2

3

4

5

5

6

6

7

7

8

8

9

9
10

10
14

14

18

18

19

19

16

16

13
15

18
14

20
17

17

16

16 17

21
14

15 18

1112

Spray Jet Shown
For Reference

13

BACK VIEW-PLUMBING DETAIL

23

24

26

26

26

26

29

29

27

27
28

30

30

30

30

17

17

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C980
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D585
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M028
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M027959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F928
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A970
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3971
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4036
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M494
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G565
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M034
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M035
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A679
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G153
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M798
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G551
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A945
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D717
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC J620
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D405
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M795
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B712
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N005
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N006
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A944
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N451
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A302
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N450
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N998
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A678
http://www.guillens.com/


STYLOS
KITS

M790000 SHOWER KIT, STYLOS (FOR MODELS M817XXX)

M499000 STYLOS MOUNTING BRACKET REPAIR KIT (FOR ALL MODELS)

Contents of kit:

C974000 Installation Instructions, Mixer Valve, Pressure Balancing
M494XXX Faceplate Assy, Round, Optica (2)
G575000 Label, Optica Warning, Heater
G574000 Label, Optica Warning, Valve
G565000 Gasket, Optica, Foam, 3" O.D. (2)
A970000 Nameplate, JWB-Brass (2)
F928XXX Handle, Teardrop (2)
E069000 Installation Instructions, Optica Handle
3971000 Screw, PHP, #10-24 x .5"L. (2)
4036000 Washer, #10 Flat (2)

Contents of kit:

4 Mounting Brackets
12 Screws
8 Wall Anchors
6 Washers

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C974
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M494
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G575
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G574
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G565
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A970
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F928
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E069
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3971
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4036
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M499
http://www.guillens.com/


PRODUCT SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.
USE INSTALLATION INSTRUCTIONS SUPPLIED WITH PRODUCT.

Jacuzzi Whirlpool Bath has obtained applicable code (standards) listings generally available on a
national basis for products of this type. It is the responsibility of the installer/owner to determine specific
local code compliance prior to installation of the product. Jacuzzi Whirlpool Bath makes no
representation or warranty regarding, and will not be responsible for any code compliance.

JACUZZI WHIRLPOOL BATH

Jacuzzi Whirlpool Bath National Headquarters

Service Support: (800) 288-4002
P.O. Drawer J, Walnut Creek, CA 94596 (925) 938-7070

Printed in the U.S.A.

1997 Jacuzzi Whirlpool Bath M056000D 4/98

csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

	Main Menu
	Showers Menu
	Discontinued Showers
	Help

	Guillen Button: 


